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Note : Question no. 1 is compulsory. Attempt any six 

questions from questions no. 2 to 8. 

1. (a) Define the following terms : 	 2 

(i) Homeostasis 

(ii) Epitoky 

(b) Differentiate between any four of the 
following terms : 	 4 x 2=8 

(i) Homologous and Analogous organs 

Protostomia and Deuterostomia 

(iii) Choanocytes and Cnidocytes 

(iv) Diplopoda and Chilopoda 

(v) Hormones and Pheromones 
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(c) Write the function of any three of the 
following structures : 

(i) Statocyst 

(ii) Osphradium 

(iii) Parapodia 

(iv) Pedicellariae 

(d) Give answer in one word only : (any two) 	2 

(i) Name the sub-phylum of extinct 
Arthropods. 

(ii) Name only living genus of the sub-class 
Nautiloidea. 

(iii) Name chewing organ of sea-urchin. 

2. (a) "Viruses are a borderline case between 

living and non-living things." Explain the 

statement critically. 

(b) List three major differences between 

Prokaryotes and Eukaryotes. 	 3 

(c) What are the limitations of Whittaker's 

five-kingdom classification ? 	 2 
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3. (a) What are the various types of locomotory 

organelles present in protozoa ? 

(b) Compare different methods of movement in 

the major groups of protozoans. 	 6 

(c) Name any four protozoan parasites. 	2 

4. (a) What is a coelom ? What do you understand 

by true and false coelom ? 	 5 

(b) Name the theories which explain the origin 

and evolution of Metazoa. 

(c) Write a short note on affinities of 

onychophorans. 

5. (a) What are coral reefs ? What are the 

different types of coral reefs ? How are they 

formed ? 	 1+2+4=7 

(b) Why are centipedes, millipedes and insects 

placed under Uniramia ? 

6. What is torsion ? Discuss the process of torsion 

in gastropods. 	 10 
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7. (a) With the help of a well-labelled diagram, 

describe the water vascular system of a 

sea-star. 

(b) What are the two unique features of class 

Crinoidea different from other echinoderms ? 2 

8. (a) Write a short note on "Biological clock". 

(b) Match the animals listed under Column 'A' 

to their respective phylum listed under 
Column 'B' : 

Column A 
Animals 

Column B 
Phylum 

(i) Aurelia (a) Annelida 

(ii) Nereis (b) Mollusca 

(iii) 	Limulus (c) Porifera 

(iv) Chiton (d) Cnidaria 

(v) Euplectella (e) Arthropoda 
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